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Abstract

Conventional spatio-temporal differentiation algorithm for optical flow uses rather
general knowledge for objects, i.e., the smoothness constraint. It will be more
effective, however, to use more intrinsic knowledge for specific object.  In this
paper, we propose an algorithm for recovering 3D flow from 2D measurement data,
by using fluid flow motion equations of Navier-Stokes equation for a constraint of
regularization. ~ We studied the validity of our method by a simulation. We
further applied the method to a real image data of ceramic flow and recovered
the 3D velocity fields.
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